Ratio to Pythia 8.308 default
[N

0.5

7000 GeV pp
L L A A

pT (top) (pTtt > 50)

Top (parton Igvgl)

| 11 ||||| |
Rivet 3.1.10, = 3.4M events

mcplots.cern.ch [arXiv:1306.3436]

~ —a— Pythia 8.308 default -,,” -
| ¢ Sherpa 2.2.9 default | 09__
| 1 | | | | | | | | | | | | | | | | | L | | | + 14|
:l T T T T | T T T T | T T T T | T T T T | T T T I:
L $ |
[ , _
’“‘m |
SRR 4000000 0 4 4 0
- oot R VNS JOU L SO o ¢ 9
LA G L TR M
B (7% ¥ ¢¢ ‘“ i
} '?
| " 1 1 1 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 1 1 1 " " 1 " -I .-l‘ I‘. 1
0 100 200 300 400

N

0.5



	Contents
	Page 1


